SSC GCGL/GHSL TIER 1l 2023
ENGLISH

MOCK TEST &

SET-1




SSC CGL/CHSL TIER 2 (CRASH COURSE)

0

(D

MOCK PAPER
DISCUSSION




SSC CGL/CHSL TIER 2 (CRASH COURSE)

1. Rahul said to Shilpa, "How are you ?"
A. Rahul asked Shilpa how she was.

B. Rahul asked Shilpa how she were.

C. Rahul asked Shilpa how is she.

D. Rahul enquired Shilpa how she was.

Option A
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2. He said to me, "Do read the holy Gita daily."”
A. He asked to me to read the holy Gita daily.
B. He asked me to do read the holy Gita daily.
C. He asked me to read the holy Gita daily.

D

. He requested me to read the holy Gita daily. @

Option C

Note: We remove "do" in the imperative sentences starting with
"do". But if "do" is acting like a verb then we do not remove "do"
Example : He said to me, "Do this work on priority."

Answer: He asked me to do that work on priority.
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3. He said to us, "Are you going to market today?"
A. He asked us if we were going to market that day.
B. He asked us if you are going to market that day.
C. He asked us if we went to market that day.

D. He asked us if we had gone to market that day.

Option A
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4. | asked, "What happened?”

A. | enquired what happened.
B. | asked what happened. @

C. Ilenquired that what happened.
D. |asked what had happened.

Option D
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5. They said to me, "May you live long."

A. They prayed for me that | might live long.
B. They blessed me that | might live long.
C. They blessed me that | may live long.

D. They blessed me that may | live long.

Option B
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Q.6 Select the most
appropriate synonym of the

given word.
INIMICAL

1. Deliberate
2. Hostlile

3. Comparable
4. Influential

Correct Answer : 2. Hostile
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Q.7 Select the most
appropriate synonym of the

given word.
VENERABLE
1. Esteemed
2. Valuable
3. Reliable

4. Redeemed

Correct Answer :1. Esteemed
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Q.8 Select the most
appropriate antonym of the

given word.
PERTURB
1. Soothe
2. Commend
3. Confound
4. Fluster

Correct Answer : 1. Soothe
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Q.9 Select the option which iIs the most
appropriate one word substitution for the
given group of words.

A shortened form of a word or phrase
1. abbreviation

2. pseudonym

3. precis

4. summary

Correct Answer : abbreviation
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Q.10 Select the most
appropriate synonym of the

given word.
FLOURISH
1. Wither

2. Thrive

3. Languish
4. Shrivel

Correct Answer : Thrive
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Q.11 Select the most
appropriate synonym of the

given word.
DISCERN

1. Daunt

2. Percelve

3. Disregard
4. Neglect

Correct Answer : Percelve
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Q.12 Select the most
appropriate option to fill in the
blank.

You are well prepared to handle
the responsibilities bestowed

you.
1. for
2. Uupon
3. 10 Correct Answer : upon

4. at
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Q.13 Select the most appropriate option to substitute
the underlined segment. If no substitution Is required
select 'No substitution’

If | would have a degree from the university, | would get
a good joDb.

1. When I will have a degree
2. 1f | am having the degree
3. If  had a degree

4. No substitution
Correct Answer : If | had a degree
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Q.14 Select the wrongly spelt

word.

1. Burglery
2. Aviary

3. Treasury
4. Nursery

Correct Answer : Burglary
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Q.15 Select the most appropriate option to substitute
the underlined segment. If no substitution Is
required select 'No substitution’

Even if he is a honest man, he has been accused of
theft.

1. Even though he is a honest man
2. Although he is an honest man
3. No substitution

4. Since he are an honest man

Correct Answer : Although he is an
honest man
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Q.16 Select the most appropriate option
to fill in the blank.

Hitler believed that the Nordic Aryan
race was superior all other races.

1.1n
2. than
3. from
4. to

Correct Answer : to
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Q.17 ldentify the segment that contains a grammatical
error. If there is no error, select 'No error’

If he wants to recover, he must abstain for alcohol.

1. he must

2. No error

3. wants to recover
4. abstain for alcohol

Correct Answer : abstain from alcohol
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Q.18 Select the most appropriate meaning of the
underlined idiom in the given sentence.

He Is completely at sea about where to invest his
hard-earned money.
1. committed
2.suUre

3. confused

4. 1n shock

Correct Answer : confused
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Q.19 ldentify the segment that
contains a grammatical error. If there
IS no error, select 'No error

Either of the two supervisors were
supposed to be present at the site.

1. No error

2. were supposed to be

3. present at the site

4. the two supervisors
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Q.20 Select the most appropriate
antonym of the given word.
DEMEAN

1. Ignore

2. Debase

3. Belittle

4. Admire
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